David Youngberg

Econ 310 

Homework 2
Please answer all the following on a typed, stapled separate sheet of paper. Make sure that you justify your answers and use your own words.
1. Consider a classic piece of Star Trek technology, the transporter.
 Suppose people from the future brought one to the present and we were able to replicate the technology. According to the law of one price, what would be the tendency of prices all over the world? Would there be any goods whose prices move in the opposite direction or remain unchanged?
As transportation costs decrease, prices the world over would converge: high prices would fall and low prices would rise. With this sort of technology, it seems very likely that transportation costs would be functionally zero for both goods and services (doctors, for example, could transport from region to region). Setting aside issues of tariffs and other trade barriers, we would witness complete convergence as we currently see with goods that can be transported electronically, close to zero cost. At the same time, some prices will not change or change very little. A book written in French sitting in a Parisian bookstore will likely not sell for the same price if it was sitting in a Manhattan bookstore, even if it could be teleported there instantly. 
2. In “The Balance of Trade” Bastiat compares the accounting practices of the bank with those of the customhouse. What does he demonstrate in doing so? How does this idea connect with the balance of payments?

Bastiat demonstrates that the banking method (a) sees trade as profitable and desirable and (b) sees shipwrecks and lost exports as undesirable and dangerous. At the same time, customhouse accounting focuses only on what leaves and what enters a country and can conclude a firms imports and exports to be undesirable but a ship carrying an export is better at the bottom of the ocean than on it’s way back home, carrying an import on the return trip. Thus “trade deficits” are not nearly as important as people believe—the benefits of exchange do not go away when you start trading across political borders. This directly reflects our discussion on the nature of the trade deficit, which is really half of the balance of payments. The other half is money coming back to the country as investment, but even if it didn’t come back the initial trade was still worthwhile.
3. Describe the effects and the underlying logic (in one to two sentences) of the following ceteris paribus changes on the domestic (U.S.) exchange rate:
a. Wal-Mart announces that it will continue to lower prices next quarter.

b. Scientists discover that a fruit grown only in Peru can reduce the risk of cancer.

c. The federal government enacts national health care on the basis that universal coverage is more important than economic efficiency.
d. A popular movie showcases the joy of Nuremberg bratwurst dipped in Vermont maple syrup, a cuisine locals in both America and Germany will likely replicate.
(A) Their announcement will confirm that Wal-Mart will continue to lower prices. As the price level falls, each dollar will expected to become more valuable and the currency will appreciate.
(B) The discovery of a new use for an existing product will increase the expected demand for it in the near future. This will increase expected imports and thus more dollars will be abroad (or the U.S. economy will be less valuable) and the currency will depreciate.
(C) A focus on equality rather than efficiency suggests the U.S. economy is expected to become less productive in the near future. As a result, fewer people will want to do business there and the currency will depreciate.

(D) Because Americans and Germans are importing and exporting more (Americans export syrup and import bratwurst and the opposite for Germans), the effect on the expected net exports in the U.S. is ambiguous. It is not clear if, on the whole, people will find dollars more or less scarce.
4. Describe a principal-agent problem you’ve encountered in your everyday life. What steps did you or the other party take (or should’ve taken) to assuage this problem? Note how the principal in your example used (or should’ve used) one of the same strategies banks use to mitigate asymmetric information.
As the principal, I’m convinced many of you agents are not doing the reading I assign. In class, an alarming number admit to have not done them despite the implicit agreement I’ve tried to establish by giving you relatively little, relatively easy reading (especially for a 300 level course). The shirking persists. I generally combat this problem with two strategies. One is that I ask reading-related questions and call on people randomly in class. In a way, this is a sort of a collateral agreement (randomly applied). When I call on you, you give up your anonymity and are put in the center of attention (a place most of you are not comfortable in). When you don’t do the reading, I draw out your anonymity more by asking you why—in other words, I deny you your collateral back. But when you do the readings I tend to assuage your nervousness, effectively returning the collateral. 
This, however, does not seem to work as well as I’d like and so I engage in a form monitoring. One manifestation of this is that participation points count when you’re able to answer reading-based questions, but they don’t if you admit to not doing the reading. At the same time, I monitor you through the exams, asking you questions that you’d unlikely learn from the lectures alone. While this likely shifts you to read at the last minute, at least you’re doing it and I’ll likely stick to that strategy in the future. Hint, hint.
5. Suppose Richard Branson approached you with a business opportunity: invest $500,000 in his new entrepreneurial endeavor and in six years, he’ll be able to pay back your initial investment plus $100,000. The interest rate is 3.2%. Assuming you have the money to engage in this opportunity and setting aside issues of risk, use the present value equation to determine if this is a worthwhile investment.
$500,000 + $100,000 = $600,000
$600,000 / 1.0326 = $600,000 / 1.2080313 = $496,675.88 < $500,000

This would not be a good investment. Branson is essentially charging $500,000 for something that is presently worth $496,675.88; in other words putting it in a savings account would yield a better return. The opportunity cost is too high.
� A fictional device that allows people and objects to “beam” from place to place, allowing virtually instantaneous movement between two points within 80,000 kilometers.





